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1. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
1. G2 STEISH CRECH! s [ <ifes 2

(A) BIRTE (B) =z

(C) T=*[{ (D) orwsile
1. 2 S0 CR A (@D 2w 2

(A) vaiRwTs (B) ==l

(C) T (D) orwaie
1. TTEH TSI ST TSI AT T ?

(A) =g (B) ST

(C) TR (D) T
1. 378W ArgrT 6t Afm TSt Ha-w oft?

(A) =R (B) Sitere

(C) T (D) Tt

2. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
2. G *RFE Lo SO N < wifee 2
(A) RS gl (B) =S
(C) cxel (D) CAfE!
2. TG *RFARA FPreme aw Ji e 2
(A) SRS iRl (B) el
(C) cxmTel (D) CIf&!
2. fiv=a viRea foafy get AmE?
(A) AT TS (B) STeRATd
(C) wwgfd (D) et
2. fiTd Yieed I STt 1 AH T AqT?
(A) =ATEL3 ATl (B) STehIgHIt
(C) agh (D) &fsh
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. Who was known as the ‘Lion of Mysore’?

(A) Adil Shah
(C) Krishnaraja Wodeyar

. TENEE PR’ Hee (I SRS wifew 2
(A) =ivel W12

(C) TS TWIE

. (P WREE PR e wIfeifbe e 0
(A) =Tfet >

(C) FRAE! STCAR

. R wEe e g s
(A) T wme

(C) FTIST 3R

. B I o W G foRE ST S on?
NS R

(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 22w wIfet
(D) 5% pere

(B) 2RMIA el
(D) 7 eTom

(B) BIEa ATelt
(D) fag geam

(B) T 27t
(D) ¥ Gedr

. Which State of India has Jallianwala Bagh?

(A) Punjab

(C) Rajasthan

. SRR (FFICH ST FRFHEARIE 7o 2
(A) g

(C) &z

. SICRIFSTE 15 SRCST (F ST ST ?
(A) ~ngR

(C) ASER

. ST ST YRA o TESieAd &7

(A) TS

(C) TSI

. STfcTaTaTen ST WRa & fora =g o fedra 27
(A) G

(C) TSTEAN

(B) Haryana
(D) Uttar Pradesh

(B) =Ifren
(D) Tes 2w

(B) 2fme
(D) Teq 2w

(B) ®IAMI
(D) 3T T

(B) wfm
(D) 3IW =
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5. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
5. Mo [Es TR WERIS (R o S (969 SRR SifRe 2

(A) 2ecETe (B) Sl

(C) =™ (D) =IfSCAb BTeRM
5. oo origsier Wea (I faerl fResgeas ST SERfes oo foe 2

(A) 2TTS (B) &I

(C) F™ (D) TS Aeq
5. AT G SERIH WHE MEEE S 6 EE UHHE i STerae ¢

(A) ¥ (B) STIH

(C) ®r= (D) wfiEE g3fem
5. frfafaa 9 @ wF-w1 <w fodta foveags < SRM g wg = fewan o7

(A) ¥ie (B) STIH

(C) B (D) Eifera |

6. The ruins of Angkor Wat are in which country?

(A) New Zealand (B) Indonesia

(C) Vietnam (D) Cambodia
6. 959 69 TP (FIFCOT 71 2

(A) frefecers (B) TSR

(C) BN (D) BT
6. IEACH-UF RITACR (&I T AR ?

(8) Frefeemre (B) Zcwicr

(C) fecae™ (D) eI
6. 3T 1A SRRAIET STETTIST oS¢ B1eld &7

A) i (B) = e

(C) TR (D) o feam
6. TTHR T % Teel fohd 21 T 77

(A) Fsficis (B) ZeMfImm

(C) Torraam (D) haiten
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7. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh

7. FRFERS @FEER (R CCS SPIC SBS1eF TTEE =2 FCF 2
(A) SO = B
(B) B S eaTICm
(C) I F BT
(D) IR S FILETCH]

7. NEA @I (Prlel SPICTT BT TGS 2
(A) PO @ B
(B) B 8 queTC
(C) T € THI
(D) TRFNE € JILEAC

7. SATEM 99 TR SIS et T ?
(A) T SR =
(B) <9 2RI STetew
(C) TSR TR ™
(D) TIHER AR TR

7. 3w fefafga @ @ 6 3o & ary Siadsia dmn dien ar 27
(A) e ST <
(B) <A IR Smere™
(C) IR R YA
(D) PR 3R FFATRH
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8. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

8. I Qe [T (vai2g a1 QARG ¢oMeel (ol TfF =2 Wex, o0z [Ewae @ ieest e T
R 2

(A) wFReR #[[1 {Ca
(B) @4 “41 ~P5wCat
(C) =63 =<1 7[<CeT
(D) TE<S *[1 e

8. I @3 K vafE (AT @ARbR fice PR Tee Im, ©@ «fb @mis Tue 2
(A) wFRel (A 2 me
(B) & 2 “IFoames
(C) ¥ (AT 2 me
(D) Ted (AT [ e

8. o foma’s1 e Aemsfem qamerdiftm oSt o e, steen o wr e fawgie
(A) EIATHER T
(B) TSI GHTET
(C) HHTAHER ST
(D) WTETHEME HHSI

8. IR g gars e =g ¥ WY AR H R IgH W R, 9 98 Fre R # 3eE w87
(A) 3feror & gd it 3R
(B) g4 ¥ ufyem i AR
(C) |fvem @ qd &l AR
(D) W & g &l AR
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9. What is the Westernmost State of India?

(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
9. TS IHIRS(P AIMFOITG 2l Sy (Pl ?

(A) qrErEl (B) “ig

(©) T=IE (D) %A
9. RS “IF5TOT A (FG 2

(A) STerZle (B) ~n&™

(©) T=HIE (D) %MD
9. WRAMH T SET TESAT el ?

(A) TSR (B) 9t

(C) wemTy (D) TRTd
9. WA o Tl Tl ToT HH-91 87

(A) TSR (B) U™

(C) Hewrg (D) TSI
10. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
10. fafeIie (PICE! %20l fexeme wm@efe 7= 2

(A) e (B) IO

(C) ST (D) <
10. Coe (PR XD R wrgefe w7 2

(A) el (B) IO

(C) T (D) FTH
10. TEEM 59 fRafEn aeat q=t?

(A) g (B) i’

(€) smmgf (D) =z
10. frafafad & & #9-€ =1 fearem @ wafa T 27

(4) s (B)

(©) s (D) e
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11. The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia
(C) Africa (D) Europe
11. (FF TR AN7[ AR J28 2[E 2B S[Es 2
(A) Teq SR (B) wicgfera
(C) rRFspI (D) A
11. 28 20 &b (b iR 7)) @ T2 bl Tew S[iEs 2
(A) Teq AR (B) SCGml
(C) s (D) e
11. ¥z dfer e a6 gRre @rfaf demRE 37
(A) @1 STHTER (B) I=feran
(C) e (D) T
11. U2 Sfer O o werg & ke ags 4 form 27
(&) 3 TR (B) wefern
(C) 3T (D) T
12. Which of the following is a mountain range of South America?
(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
12. RS (PIRCE! wf=r SR 9 Ao 2
A) «fes (B) FRICTR
(C) SR (D) CFoR
12. SICoa (@I 7 SRR 956 2= 2
(A) s (B) FRICFEN
(C) Smert (D) <FCF*mT
12, TR S&T @il AHERTH ST HBIi?
() T<E (B) RIRH
(©) Tew (D) hehur
12. Freffiad & & F-dt 2f smfE 9 T sEe 27
(4) T (B) I
(C) 3o (D) HTeha
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13. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

13. RS ofer (Rl SRl Traae weE gieE i w9 7R Gl |l =
(A) Pt (B) J-et
(C) 9IRS (D) SR

13. @ Ao SCAAERE WS 91 SRIFC=[ FCel 72 TRITH ST o1 2
(A) T (B) e
(C) $u=E (D) SR

13. < et /1 HiEl SRS TS SIRMETEAES S 1ot QrarhrEt ESH
(A) gt (B) SIHTaTE
(C) T TRgEl (D) = fifeEmm™

13. Tg5 % T4 Sarenget fowwie a1 o % R0 3o faeme i @ e S @
() g (B) <ThelTd
(C) S®HT qHE (D) s¥EerH

14. Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
14. FEPTON = (Fl 23 ?
(A) g (B) ToEefe
(C) CIPTSR S (D) Fgeife
14. qEPTON JU=F (F ?
(A) e (B) Tomigeife
(C) CIPTSR S (D) wgeife
14. TESI 9T ATERRANET 917
(A) TIETE WA (B) <IeT3 BRRAMR
(C) §F e ghufi (D) BTERAR
14. TSI T T AL S BT 87
(A) wa= w=h (B) 3uargufd
(C) wArwawT STeae (D) Tgafd
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15. Who administers the Oath of Office to the President of India?
(A) The Prime Minister
(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court
(D) The Speaker of the Lok Sabha

15. ©FeF JFETF (PG ¥21S #(16 IR 2
(A) ZEeTIE!
(B) &l T FyRIeRE 25 R0

(C) Tohow TRIERF 7 R
(D) CeTFTOR S

15. (F SRCSA AZACT *212=RF 10 T 2
(A) 2rrE
(B) &l T REIRR 24 [oE7Ife
(C) T TRIEER 24« [oEeife
(D) CETRPTSR S

15. 9RAH gERATE foam aumfare 9r awr?
(A) TITETE WA
(B) fagh e fafsranfafs mere fommema
(C) it fafsrenfats mer femmema
(D) g ety gffii

15. WA & Ugafd =l ug F 799 i e 27
(A) TaH Tt
(B) fagt 3= =me™ & g =i
(C) HaT= =T & &I =R
(D) AHENT 31eTe
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16. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

16. R[S PR TMRAETHRS (FICH! AHRECS J02cq e 2
(A) T (B) wzal
(C) Tl (D) B

16. o Tferfie SpIcT (i ImRED TaEere I fr tofF 21 2
(A) THEI (B) ™
(C) crrerat (D) Il
16. TEEE SHE SEMH J SHsEl s SHE?
(A) &= (B) ga
(C) &am (D) el
16. fr=faIftad § @ o18m o1 hi9-91 Gifid STeEs AHAR 0§19 d o4 8idT 87

(A) == (B) mam
(C) are (D) v

17. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji

17. (GIFeT2 B2 ST (% T SKFS ?

() Q@b (B) =RwoE

(C) fefpam (D) &
17. (G112 B I8l (% (FIAR SRTS 2

INISIEEY (B) =S

(C) femidr (D) CHIfes
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17. qhelg GTET ARSI BHHT Sere €7
(A) SEE (B) @&
(C) forgfepam (D) ity
17. 2Ihcllé = STIHAH %5 el [€d 27
(A) SiRETe (B) TR
(C) forrgfepam (D) aarf
18. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
18. (oNfI™ S R @Bl (ol AT (2%, (P AETS SETS 2
(A) Tears (B) f2mst arom
(C) w2<g (D) Teq 2o
18. Aol (2, (o™ S IR G0 ©ol, (P ST SAT© 2
(A) Tede (B) f2smet 2icws
(C) =G (D) Teq aom
18. Tfere W T1a@ 9 09 @iwal a1 I sel TESieTd &7
(A) ITHRETE (B) femreat wewm
(C) Wewrg (D) S S
18. a1 U9, Mfde W wEie™ 6 U 31E, fha T o fedm 27

(A) ITEE (B) fewrerar waw
(C) Hewg (D) 3IW =0
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19.

19.

19.

19.

19.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TR ATTS (FIC GOl e1q S Sqierer sieell Sifqzce 2p/Raw =i S 99
R S (AR GEB] TP 6 for (i =@ 2

(A) =& = (B) TRITZCSISH FeT

(C) [0 et (D) welRl e

I Gf6 e e vermieter «fb 8 9bm T 2/ Rmef e Aot 7 w@elfe
2Tl T 2C #[1CH, S A

(A) FE I (B) THIZCSISCIA 1T

(C) 0 = (D) WS FHle

IRAH THaE AFEH ST T2 |9 Sieall SERaSEl ity /e o miEe e
Torar gmN, o e | g

(A) 3eife T| (B) AMSIGH TER ¥H

(C) <o’ Tm (D) BT a9

IR wae § el vk o7 o &= § forn forelt 9@ 9= & T/ 39TT ST U aTel 39 T e
1 T ST 2

(A) T e (B) WeATE-HISH el

(C) I A (D) ™ 1t
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20. Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister
(C) The Governor of the Reserve Bank of India
(D) The Vice President

20. IS (NITI) SR S=F (FA 2
(A) e =@
(B) T
(C) SR Rers @3 9=efq
(D) Tergefe

20. i (NITI) SICACR SL=F (& ?
(a) fre =@
(B) erea]
(C) SRR f{ers FIE o=l
(D) Temzefe

20. Hifq (NITI) = serefieEn Je?
(A) T T
(B) TITETS HHA
(C) Wty femed siepfy MR
(D) T3 BRRATR

20. fifq (NITI) TR 1 31298 A 87
INBRESE:EL
(B) W& Tt
(C) Wt T Sk 1 TaT
(D) STgHfd
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21. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat
(C) Golaghat (D) Dibrugarh

21. ﬂﬁ T CNLTIANT SN (Fle1ee e ShfEe 2

(A) TRRPTsR (B) @26

(C) ol (D) Rgore
21. THANC NN SPICH (e (SR ST 2

(A) PRPTISE (B) =21

(C) oD (D) fugsn
21. A Fuferre oma AR 59 e &7

(A) fersEmm (B) SRE™d

(C) TelTETe (D) fegre
21. uTciiTg Fwret swm o form ot o feor 27

(A) RrEaEmR (B) &R

(C) T (D) fegme

22. The international festival ‘Kullu Dussehra’ is celebrated in which State?
(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

22. WFEIoT TSR g ORI (TR AT AT 1 2T ?
(A) T2 eioe (B) Teqee
(C) Teq Aom (D) =f<E

22. IEHOF TCR Py TR (I ACE AT 27 2
(A) T2 eoe (B) Twdre
(C) Tex 2o (D) =
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22. TSN GRAl Fg N G o6l TSNS Bl Sl ?
(A) Temmea wewm (B) ITRATE
(C) W = (D) =TT

22. YA @ER ‘g awed’ fFd Tsa § TR S 27
(A) feama g (B) TGS
(C) I 9w (D) &f@mm

23. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and China

23. @R AN (P GBI TLGF AT T ?
(A) SICERE =FE Wefeers (B) SNCHR I&AG S IRl
(C) wHFa SIF = TMISTZID (D) S A= DI

23. (@R AT (I 76 FoTOISICT 72T A 2
(A) wegREmE ¢ fefeene (B) W I8 @ AR
(C) wFFal SRRl S qMISRE (D) S 8 B

23. i g-Felel o HiA eT-WiaE! SrEmar?
(A) i mt fefeere (B) 330 THo o TR AT
(C) e 3TTHehT 3T HETTTEHT (D) UM AW =4

23. AT STeEf-a fom a1 y-9rT Bt 3TerT st 27
(A) sTiefern 3R =ficie (B) TIh TA TG 31K &4
(C) afequr ThIehT TR HSTTTER (D) SUM R ==
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24.

24.

24.

24.

24.

Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

XSG (PIACT Ol STl A6 AT (I 2
(A) o fFaa (B) Tfery gl
(C) =& Il (D) CCas! ~ma

IS (PG ST Sl SIIe (P foIeaeee 2
(A) oI &5 (B) ey $2
(C) = I (D) CCEs! Areq

IS ik WA TeTeh=a1 Hemg e |r?
(A) T fHaa (B) @If=Ied =1
(C) ST s&aT (D) Bt d1eX
IS HieR FRI M T Feshr-a1 T forae fomd ?
(A) 9T fopea (B) @f=ed

(C) = =& (D) TrRft uTeR

25.

25.

25.

The real name of crime thriller writer Ranju Hazarika is

(A) Satyanath Bora (B) Pabitra Kumar Deka

(C) Hiren Gohain (D) Kumud Chandra Hazarika

ST (T IR T4 TG WS @0e] 7 2
(A) ST 9 (B) “@ FI= (ol
(C) BT comzfe (D) T b BSPI

ORI AP IR (T4 g AR 2FS T F 2
(A) TR [ (B) “Rk@ IR (TPl
(C) B CaIzfE (D) I 5% FASIEPI

SLRC—2024/P-111/ 1-A 21

[ P.T.O.



25. EH U T T & e o) gt A
(A) TEATT 5T (B) |fer FHR Il
(C) e et (D) YT =5 &1 T

25. TS YR TRae TY BSERT 1 STHe AW &
(A) T S (B) dfers FUR S

(C) Tem eTg (D) FYE =F TSI

26. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya

(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

26. “TENE 7B WRYE NG PRy R4 (e ferifes 2

(A) I T (B) 3 SGIHRS
(C) ST *FHA (D) Sl T 7@

26. (RGCE 7BF MBS FB7[E T=ATE I (=11 ?
(A) TRITE T (B) Blcs ©GIHR
(C) SeamR R (D) = AR 7@

26. T AHRM foSTE - g% -gE megEd @t ar foai?
(A) e ST (B) fetd weramd
(C) el TEfeRa (D) 37%7 PAR T

26. I h TEdh, ARE TR ARG foha forwdt?
(A) Tahid & (B) f& wgm=md
(C) weig A1 Afepan (D) 3TEY FAR
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27. Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
27. T *T8 (R &S T T 27 2

(A) = (B) SifETy

(C) effbe (D) CoCEReI
27. Fieew M F qces TeAre 27 2

(A) cdreT (B) wIferee 9

(C) o (D) CSCETsFTl
27. I Al 99 TEsiierd g

(A) P (B) mfierrg

(C) e (D) qATTHT
27. W TSt 1 3cdred foRd TsT | B 27

(A) W (B) dffrerrg

(C) e (D) T
28. Who among the following was a famous painter?

28.

28.

(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando
fRfeTe (@FoEF qoe e Hass e 2

A) TS5 == o’a (B) & (ST

(C) 37 st (D) ICef ACl

qoa & GFee [me oAt fzeee 2
(A) S5 e Ao (B) Sl (&I
(C) 33 el (D) WICef ATl
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28. TERE ™ AR el YEdT Fari SARem?
(A) TirEe 97 ™ (B) 59 @
(C) =9 TTel (D) e e’

28. F=faifga @ & #19 u uftg Femeer on?
INRECAE R (B) ST o=
(C) =ia Hred (D) Wi el

29. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo

29. TPTE I+l (B WA el BRI (IR (o7 TReS aAfSfng T¢I 2
(A) 1’9 I’ (B) @
(C) &V (D) el

29. PR IRl (BIYAT @R TR *BFRA (@ (IR SRCed ARy Feq 2
(A) =T T (B) <TG
(C) (D) scel

29. IEMMH AT =gl TR TEAEH FEfRarE YRAH S A7 e
(A) T = (B) ssfied
(©) (D) 9=

29, @A hi AT =NYd TR FHEET Gfrn fora @a § wid @ ufdafifeea e 27
(A) < ST (B) aefie
(C) = (D) S
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30. Identify the Badminton player.
(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
30. (TORIBA (LA DTS 5 |
(A) T FHE (B) ~[cawTl ontow
(C) wferan fareit (D) Fraem ¢
30. TR CICETRICCS e e |
(A) TN TP (B) =&l ConAmm
(C) fer et (D) fiEeR s
30. et Temma faamfy |
(A) a1 FHRR (B) geiel MU=
(C) i firsti (D) forer
30. defied Raame! i wg=nu |
(A) T HHER (B) ToraT e
(C) @t firstt (D) ferier om
31. In which sport did India not win a medal at 2020 Tokyo Olympics?

31.

31.

31.

31.

(A) Boxing (B) Weightlifting

(C) Taekwondo (D) Wrestling

2020 5fFe” Hferf e SRCe (FMRY (4TS (FIC e oS F41 T(Re 2
A) IEgm (B) ©ICAICELT

(C) BlRcPECS (D) &=

2020 GIfFe FRF TS (Fe| (P 2T (ST ?

(A) Tm (B) ICACST

(C) DRCFRICT (D) F%

2020 "EUTEH 2fHsr Al aREEEEE TRaT 9" ToHEE g HaRg ?
INEE:ISIREIR] (B) Tifer T@mm™

(C) dTERaTE (D) EHATET

IRd 9 2020 RN Al d fora wat #§ g T S

(A) Faa (B) Wi

(C) qrEEEr (D) Pt
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32.

32.

32.

32.

32.

The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events

S 2AfScamfare™ W2er TR’e el (@FERY (FFF O Sivs ?

(A) STCoR (B) @

(C) fememfzs (D) GF = g (2@

IS ARSI S TRNS fols] (P (L& 30 TS ?

(A) er” (B) TSR

(C) e (D) TS @< fFeeeq el

Y SN SERAREAEE B SRMe form s« To=s gl 17

(A) |HfEE (B) Fefired

(C) T (D) 3% W BIARTE AT SR

grme o form wat # ufeenfiarsti it we anffes sjeer 27
(A) TRt (B) Ssfiem
(C) TSrwTfee (D) & 3R Fieg T

33.

33.

33.

Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
YRS el Y &ql @[ B T |

A) B gwanf - fFn (B) &= 3o : a1’ (Bferm

(C) DiRoNT Tug : a7 (D) &3 @Il « Fho3e]

ST CEICA (e bfze wee |
(A) OFF @1 : (B) T 3sf : o1 (BT
(C) TBizeE T : o (D) @M @MICEe! : Foe
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33. TR T S T |
(A) Ttk weamt : foehe (B) =4 = : o 2
(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead

33. T gAfad Sie 1 qe=nu |
(A) T Teant : ke (B) =AM @it : otq 2
(C) TR JSH : Meh (D) Terfeeami TATeeT @ Peata

34. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar

34. TER T& ool o w[iEe ?
(A) T=9= (B) T Tl
(C) D (D) STo[

34. AT T GF (IR TS 2
(A) T (B) o fralt

X

(C) IR (D) e

34. EA 9 B9 & 581 57
(A) R (B) Tem fagt
(C) ami (D) AT

34. TYW g5 WRH wal O 77
(A) =r (B) 7 fegh
(C) @ (D) 3TYaT
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35. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

35. RIS @FMGR e S 53T iz PEal TS 2
(A) TITATER S G
(B) 2w SREpael
(C) SR =i g Trere
(D) fEfechsr st

35. 0o (IR AP P AP PR 2 ST 2
(A) TR 8 G
(B) < SRl
(C) B wierel @ S Arery
(D) fEfEbre fors

35. UM @R URH Sg-eEn MeEH Asi g 87
(A) T FRa IR =3 TR
(B) =TS TG QIR
(C) BT-IEI TR BI-TSIT
(D) fafsreat dietieng

35. 1OH R F fen sgan Fefafed ¥ & frod gafua 27
(A) HEIUTEH AR TSfaeht
(B) HEe TfcheRT
(C) ¥ sAfici@ IR oy Ts
(D) feforea farem
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36.

Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
36. RS (@G 2o AT A2 IR AT ST 7= 2
(A) *TC=T 9% b’ (B) wfew qg wfem
(C) =6 Tz (D) 6T b=
86. a1 ARG e AT TR TS 7 2
(A) FRCH S Gl (B) wifzm =1 Wiz
(C) Pl GIoa (D) BT GIGa
36. TEAM oo HEAMT BIATHETN TR MR TET7?
(A) < T gs (B) wfewx T wie=
(C) wd HeH (D) 27T Hed
36. f=fafaa & @ &H-T1 GMe anfvrfSres aredt & =E|mE § 1€ 27
(A) @A T st (B) wfezn U wfez
(C) I Hed (D) 2T Hied
37. If the pH of a liquid is 5-0, then the liquid is

37.

37.

37.

37.

(A) alkaline in nature (B) neutral in nature

(C) liquid metal (D) acidic in nature

(I ©Je 7MIefq pH W 5:0 27, (3 o991 ey

(A) P ephed (B) 2 erpfeq
(C) o= A1y (D) =rfere 2gfed
@%b e 1. @35, (pH) 5:0 2¢&, (13 o790

(A) = Zgfed (B) fiscors ergpfest
(C) o= 1Y (D) o egpfed
e A8 EeE pHI 5:0, 375 o ATl

(A) @R g (B) ==

(C) &« u1g (D) wfas smgf
el feret 59 %1 dio oo (pH) AM 5:0 8, Al a8 59 ®

(A) U § AR (B) Wefd § deed
(C) e &g (D) Sepfc & et
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38. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
38. 1 GIERI, 2024 JCACF SO ToRIGAS (I 2
(A) TR 5% oI (B) I N FIR™
(C) wafiel 44T (D) FrEEne PR
38. 1 WA, 2024 ACHCTF SECS THRIGAS (F 2
(A) CaTeTI® DI SO (B) A M (IR
(C) wlmlel 44T (D) = Fige
38. 2024 AEAEH 1 TR WIfAGHE YRAH IeTs TRRATET 9r?
(A) TS T] RN (B) T 1Y hid=<
(C) ST et (D) Ty fie
38. 1 SHad, 2024 & YA & IUNTUTT I 7
(A) T FE T (B) TH 1Y =hife
(C) ST e (D) Ty firg
39. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow
(€) Human arm (D) Stapler
39. fferie (FFG 2429 R e =mwefs 2
(A) ol (B) o=l ait
(C) a2 (D) (B2l
39. TICo (@D A cHIféln Foreicay wmwse 2
() <o (B) co=TNfe
(C) TS TS (D) BT
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39.

39.

e o« g ar@ 1 foemfa fafef=r?
(A) @iy (B) e M
(C) AHfa A= (D) TUAR

fefaftad & @ s-a1 ofiag i e 1 29of § gefig 27
(A) i (B) T
(C) wHa YT (D) WUeR

40.

40.

40.

40.

40.

The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan

o

T (I TSR AT 81 “Pefie 391 369 @5l T 5= ez 2

(A) afemst (B) pRERCAY
(C) NCHART T8 (D) &=

(I (OIS SR TSI 31751 “BPHCS Gpb M &1 SCR ?

A) e (B) YeEREn
(C) WIRF Fea1g (D) S

I BRR fRftheTrTa TS Tt drme o % &7
(A) FfSI (B) gEoRCIUE

(C) AR SUTZ BTeX (D) M

fore 391 % T e § A I W U The i 27
(A) Ssfiet (B) fersieie

R

(C) HFh T IR (D) ST
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41. Which of the following is considered as the earliest compilation?
(A) Yagjurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

41. RIS (FFEGR SBRSCP 7[[id e Jfel RKeavel w1 =32
(A) THHT (B) ‘wadcw’
(C) Ao (D) ST’

41. o FAGE 2AfblTey FFe f2erea [eawa w1 21 2
(A) T (B) ‘“wrean’
(C) ‘4w’ (D) TN
41. TEEE FoEt sEtge fifsfem gywn fomm s gmam g7
(&) AT (B) ‘st
(C) ‘foae’ (D) ‘@mee’

41. fF=fafaa & 9 fr0 9@ qge Gehed AT STTAT 27
(A) ‘Fg (B) ‘ererdde’
(C) ‘FFaE (D) ‘@mae’

42. Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam (B) Babylon
(C) Mohenjo-daro (D) Byzantine

o~

42. FRERS GG ZF PR oo Tered SiEee ?

(A) TR (B) Qe

(C) CEGMICAl (D) AfECSeBIZA
42. i Sule @ 2Ah B Terer Terem s fee 2

(A) TEfereres (B) It

(C) wccgmIcal (D) RCEBIRA
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42.

42.

TR o ST fey SRt Skmta sRrmE
(A) TRIAH (B) sferer’=
(C) TWeAsl R’ (D) fermf=e

frfafad & @ wH-a1 Tom fay ot g w5 e on?
(A) TSIz (B) ssffetH
(C) HiEsTEet (D) sfiefeea

43.

43.

43.

43.

43.

Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington

O] Iae FRAERS @R Sive wifew 2
(A) TR G5 (B) ficmeTs @I
(C) «T=w f25eT (D) & QUG

o SERerm T (T SAGRER 0w SvS =2eem ?

(A) TR CTI#Ib (B) &R fcreTe
(C) «oor f25eTR (D) & SHHIG
RS T §R HIEET JIeRgH e st 47

(A) 9 T s (B) R e @
(C) usew feeam (D) TSt aTfsTe

‘et A S | Feffad # 9 i e on?
(A) et SR (B) SR fihrera
(C) TEiewh feeer (D) S arf¥pTe
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44. Bhairabkunda is a trijunction of which of the following?
(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

44. (TP RIS (@M [Pea @R gm 2
(A) SPH, $HIF, B
(B) P, O, S 20
(C) =P, oH, e
(D) =T, fofe, Sreembst eiom

44. oo @ Flb BIR FRATEE (STFS 2
(A) SPT, TOM, B
(B) SPT, BN, SRFATbE 2|
(C) =P, To, Bifes
(D) =P, PIiRFS, SI=eeliet 2o

44, EFH<A] MEHH o A STRATHRA TSR SR ?
(A) T8, g, =
(B) ST, T, IO Ha1
(C) erram, g, fafam

(D) 31w, faferm, Tevmee Jeu

44, Weps Ffafad 7 o fraen Geiaem 27
(A) oTE|, ez, HH
(B) 3TEM, ¥2H, &0 Ja¥l
(©) v, e, fafwm
(D) 7eM, fafed, sTEv=a Taut
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45. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater
45. RIS (FAREE ETRm A6 FAR 2
(A) SRS (B) I [
(C) Q@RS g el (D) TSR [t
45. Fod (I MURTS FCT TS 2
(A) SR (B) 3Eq w1
(C) =ifee «wlq &= (D) ST &l
45. TEEM Fob FUETET e ¢
(A) SRB-T5T (B) T@1-7Il}
(C) e | & (D) ==t &
45. ffafed 8 @ F9-91 T@e § mEeE: ThE B 87
(A) TEweR (B) It =T Ot
(C) el et =1 Tt (D) ©Hgg & qrt
46. Which of the following mountain ranges is in North-East India?

46.

46.

46.

46.

(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
RS (@ e Teq-7q sRee wWaEs ?

(A) I9IZe @l (B) PRifere s
(C) Tre?[ql 7o (D) SRR 2RSTE
evx “fecTeslm T @ Teged SRS SHEs ?

(A) @RIES o (B) PRIfe “Reoed
(C) A7 *Rforl (D) SRIRAME “RoCsa
MR s FSHT AT FT-|HST Rt &7

(A) SEA BTSHT AN (B) farenfersr g @it
(C) TAYU TS AR (D) 3TRTEC g AT
frefafad & @ &wH-H 9da JEen qarat WRa | 27

(A) et #oft (B) frafers aoft

(C) @ageT #oft (D) e Tad 2ft
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47. Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.
(B) Maldives is a Union Territory of India.
(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

~ o, =

47. TS & S s 2
(A) =TEFlEl7 Seq 93+ (IR *1PTS ey |

(B) weTalel SRed g« (T 1o Jrey |

(C) SR =< fCPIRT B1oI7)g ©Req G (IR =T Trey |

(D) ~[TChd SO ¥ (FII NPT ey |

47, NEA @ (IR wram 2
(A) FFFIRY SRCST G0 (FHOTS 26 |
(B) eTal7l SRCed > (FHHOTS B2 |
(C) SN & fehlaa Avi7je ©Red Gl (FwHIFTe S |
(D) 0o CRCeT i (FTHFTS W%t |

47. TeE T fagfimr A mae
(A) Tl wRaf T s e TS|
(B) HTeAfgun YRAT T8 firesi G TES |
(C) 3T=mH 3 T s) fgwmamn wyraf 7 s s TEsi |
(D) gt wrRaf T st s T |

47. ffafaa # @ FF-01 F9F Toq 37
(A) TeTEIT THA T TH HEAMT T 2 |
(B) WIGTET WRA %1 T haeMiad JesT 21
(C) ¥ieHH 3R fHHIaR FIUaHg YR F1 T Had Ja9 2|
(D) el WA =1 Uk kg e 2 |
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48.

48.

48.

48.

48.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?

(A) Asia (B) Australia
(C) South America (D) Africa

(I TRICHIE e RYACI, TFAGIG (T4 SF FFoE (T2 A9 (2 ColcR 2
(A) @z (B) =cgfem
(C) wf=pel Sl (D) TIfEF<pI

fRcael, THEE @4 R PIOGFIG (AL (I TR 945 [req Soas ez 2

(A) @R (B) G
(C) wipe SyCafel (D) erlFpI
forge e, W el ST ke EraEe del ERRATS aere!?
(A) Tl (B) Iform
(C) et AT (D) AT{GeRT

HEPRET, HhET 3 heha fohe Hemdia & giet Toret 87
(A) TSR (B) streferm

PN

(C) afequr st (D) THIH

49.

49.

49.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

RS e el IS8 2 [eIarss 2

(A) TENRR (B) (IR =31
(C) == (D) erestes

[evx (el Wi TEE @B WG 2

(A) SR (B) IR @l
(C) =ea (D) Tenre
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49.

49.

TR SeET TR T3 ge 6 fad e ?

(A) HIETTERT (B) =adt fgw
(C) T (D) freTe
frefafaa & & &F-31 9g® T5T M &l U 29 T 27
(A) HEFTER (B) ¥ g
(C) T (D) Tfete

50.

50.

50.

50.

50.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

GG SIS 1 o< 1A B A REwReR &i<Ees fefe @i ARG (e 2w
(A) T amad (B) ezl

(©) Seteor (D) pTfd

TSR S (AP AP REFRC 7 &l 43R A7 felaf® 26 qce
(A) T 2mqq (B) Szl

(C) gfefamyg (D) TR

meft B s g g o) @ AR g

(a) fog g (B) i Hiw

(C) amHETE (D) gH

T e ¥ g H T e ST AT % ST |ed i shal ST

(A) TS (B) ST

(C) s (D) G
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51.

51.

51.

51.

51.

Which of the following is not a component of the Constitution of India?

(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

Fafere (@Dl SR FRRLFR Tom 7= 2
(A) T ~IfBEEE ot N

(B) %A I SR

(C) (et g™

(D) CNfrE T

B (I SRS AT ToAMIT o7 2
(A) FF “AfSEmR ot T

(B) (Fcwa g wiiEem

(C) Cfere Al

(D) CNfeF T

e se YrRaf afafsef s T=t?

(A) @ T AreeTe

(B) Toreanty forenm @

(C) Tfet Has

(D) TfAT AT FT

frefefad & & #H-91 39 9Ra & |iaas § 7€ 37
(A) TsT % Hifg-Feves frga

(B) % o fHe3h AfTRR

(C) wifeTsh iR

(D) HifcT FHaea
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52. A continuous rise in the price level is called
(A) stagflation (B) deflation

(C) hyperinflation (D) inflation

52. I B9 SIS @ (Il 2

() ZR<S (B) SIS

(C) wIfs JurFife (D) YurHite
52. TR TS Jfac o1 27

(A) frveTer-—RIfe (B) SRHIfe

(C) e JurHfe (D) Jurgife
52. 9@ A TATAEE] S8 IS ARG St

(A) TWITRITH (B) fewerm

(C) TTEURGTFATH (D) THAIE
52. o TR # fiat gfg 1 e s @

(A) TTRATH (B) fewizm

(C) TTEEFATH (D) FHIRE

53. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

53. A 2 e ST (DAY-NRLM)S DAY & J&m 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana
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53. o AN S i (DAY-NRLM)-9 DAY @108 Fl Q-0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

53. <MW ¥ AEviigs RE (DAY-NRLM )3TE DAY HT JSHI1?
(A) feafeae afafafefa amr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dHeTa Tgafesd AsHl (Deendayal Ayurvedic Yojana)
(D) femfede wfawm= ASAT (District Achievement Yojana)

53. UFH U aATsfifaer eM [National Rural Livelihood Mission (DAY-NRLM)| # DAY @
31 77

(A) 5o 3uetsyar JASAT (District Availability Yojana)
(B) &gt NG AT (Deendayal Antyodaya Yojana)
(C) dFeaTe Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEE (District Achievement Yojana)

54. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

54. FEIRS @R TATPT 2[R 952 (SIS I6+1 FECR ?

(A) To&d (B) SETN@ 19 (2919 N1
(C) TR 2z (D) fafT &Fs!

54. Toa @ TATPIG oMEl 9392 (AR AR A 2
A) To&T (B) SFTN@ 19 21T N1
(C) F<Rfer 2R (D) faf7 &aa
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54, TEAM 99 9 9@l =2t @ auet foemE?
(A) TogoorT (B) 37HIHd SR 84T HHT
(C) ufer gife (D) faft forrt

54, f=fafiad 4 9 w-91 su=me g=ef Trem qun g foran man?
(A) g (B) 3rdiad SR 8ueT diar
(C) Tfufer Tet (D) 73 forrt

55. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

55. fWHRIIAT (@0 S9] (FRIF T SR ARl 7= 2
(A) TSRO Toge TRl (ICG)
(B) [F ST 71 (SSB)
(C) g = sI¢ (NSG)
(D) IR Srmifas Faereriza (CISF)

55. T (PRI SICST (PRI IR iz w7 2
(A) SRR Toge Rl (ICG)
(B) “1E T 791 (SSB)
(C) B F a6 (NSG)
(D) &R Sumiee Faerer@a (CISF)
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55.

55.

TER FoT YRAH HE SR W@ g A7
A) = wE TE (ICG)

(B) & fomr s/t (SSB)

(C) Jma fafesfdfe mE (NSG)

(D) e griede fufrsie w& (CISF)

frefafaa 8 @ #F-a1 ard 1w qerE sTRelt 59 T 27
(A) WA deterss o (ICG)

(B) 93t €M1 97 (SSB)

(C) T granr ME (NSG)

(D) s 3fenfies gram s (CISF)

56.

56.

56.

56.

56.

What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

U] IARF FLF© F 2

(A) Ag (B) Si
(C) Sv (D) Au
FR APTRES 2OF 2

(A) Ag (B) Si
(C) Sv (D) Au
LRI E RN IR IECRHEDIDDIR= 1K

(A) Ag (B) Si
(C) Sv (D) Au
a7t 1 TEEHS fog = ge

(A) Ag (B) Si
(C) Sv (D) Au
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57. Who is the President of the USA, as on 1lst of January, 2024?

(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak
57. 1 SRS, 2024 ACACE SRS ISE 18711 @1 2
(A) TR I (B) C(TFIFS G2
(C) & Ar2CT (D) o T
57. 1 SREEAI, 2024 AT AFT ITSAE AEAN (F 2
(A) I S (B) (TS G
(C) ¢ <fce (D) AR T
57. 2024 AEAEH 1 SgaTR @rferfem smfe sterg g gerfifen ar?
(A) ST & (B) &cg T
(C) & =g (D) Teaft gk
57. 1 SHadl, 2024 I GIH TT IR 1 TPATT A 27
(A) SR A& (B) SHIeE TH
(C) st foreq (D) =Y g

58. Which of the following is considered as the powerhouse of an animal cell?

(A) Nucleus (B) Golgi apparatus

(C) Ribosome (D) Mitochondria
58. FfIRe @R 2@ @RT *feq Sq@ wierl [ieaal Fa1 272

A) @R " (B) a’=ie g

(C) =TT (D) BB fes
58. 67 @FELE A @R *few T e R w41 272

(A) e (B) oIS %

(C) AzCACEI™ (D) SRCHRRG
58. TeEM sEE iy Sefgema amm M sife g8 fafemm smn?

A) et fie (B) TeAfST Tem

(C) TE'sH (D) =g s
58. f=fafaa & @ fordt gy HifSTeRt 1 UTeRETSH WHT ST 37

(A) Hsh (B) Testt ot

(C) TE=TE™ (D) HTEErRTTga
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59.

Which of the following countries does not have a seashore?

(A) China (B) Afghanistan
(C) Myanmar (D) Iran

59. FEREMS @MW (7o e Toige 1R 2
(A) = (B) SRR
(C) Wl (D) 21l

59. Coq (I (BT A (TR ?
(A) B (B) A=Al
(C) SR (D) 2

59. TR S gETEl ol U e
(A) = (B) SATHEA
(C) =R (D) A

59. fr=fofaa & @ fora 3o o wggae T 27
(A) = (B) STHTEAH
(C) =M (D)

60. The world’s largest island Greenland is a part of which of the following countries?

60.

60.

60.

60.

(A) Denmark

(C) Canada

“f2T JZeN A7, T @ P SR 2
(A) CTTIE

(C) =Tl

R0eR 32 Bl 3o (PR (R =1 2

(A) (T
(C) <ITE
Feaf e T3 fimeret s« gerf aerm?
(A) ST
(C) HTET

(B) Sweden
(D) Iceland

(B) pRCe
(D) ==0CeTe

(B) 2T
(D) SIS

(B) ggeH
(D) 3MTEHS

forva =1 g w21 §i, Wecle, form aw 1w 27

(A) SHTH
(C) =TS

(B) %teA
(D) 3T
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61.

61.

61.

61.

61.

Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) 1II

(C) I (D) IV
2@ BIfBI 1R RCvell 79
I. 376 Il 629 III. 921  IV. 397
2IfSCBT IR SFCHLG] CHEFTS TGICE (! TG FR A [ered 277 2
(A) III (B) 1I
(C) I (D) IV
o reAl BRI A Reave e
I. 376 Il 629 Il 921  IV. 397
2IfSfb Yy SR TR eI 20, (I T A FUow B¢ ?
(A) I (B) 1I
(C) I (D) IV
BT WSl SHSHTRIE! TSR 2

I. 376 II. 629 1. 921 IV. 397
Sfe AFHmEEl AN FAFERE StaF™ SIiREE a9, 3l 96 MeF SENEET Safgs
ERIEEASIUIE K

(A) III (B) II
(C) I (D) IV
Ig & T =R st w foem il

I. 376 II. 620 1. 921  IV. 397
Ifg T TEAT 1 AN FH B FAfed foran S, @t sH-dt = g ged St 27
(A) III (B) II
(C) I (D) IV

62.

Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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62. e *77co! 517 TSferes |

(A) =R (B) el

(C) < (D) < B4R
62. [T e (79 v |

(A) vER (B) <I®

(C) e (D) =R
62. TR HiaE@! TR g |

(A) wE (B) =ms@n

(C) memTfer (D) =r=TE
62. It =l yg=Y |

(A) T (B) @t

(C) =mEg (D) ®X

63. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister
63. 937 FCOLEARFS *qeq BRYAE WGRRE A 30, — (967 Treq P (I FIHTOR
GG @I | Afela] =S (TS (P TFACT 7oA 2
(a) ¥ (B) wizel
(C) TP (D) =2

63. W3 BRCe *[R-93 MF Pre F@ Nl I, OF SEEE el INE Preme ¢ g
@ | e e *[e-9F A% 7=IFS 2

(a) I (B) fromd
(C) e (D) =
63. MR WArT Nty oAy mierE gam, CRfy frert R ety ety eee’ feamer|
TR ST Tty wmeeT @
(A) fome (B) fo=
(C) fomm I BEEWACEIEIE]
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63. TF TER H IRA hI AR W A g W] o Fal, 36k W5 o fual W IS 6 Fhalld I
27| mferft, Ra & fohe YR wafea 27
(A) == (B) =rEt
(C) =t (D) =&
64. If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. I ROBOTICST OROBITSC f251i7 T 341 27, (9¢8 PROJECTSY §'T 24
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. I ROBOTICS-93 7&Fe OROBITSC 23, 9(J PROJECTS-9J AP (T
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. S ROBOTICS T %a1 OROBITSC, 3%l PROJECTS T &a1 Sir=
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. Ifc ROBOTICS & OROBITSC & ®9 # whifgd foram Sat1 8, @ PROJECTS ! 59 &9 &
e fopan wu, °E @
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
65. In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?
(A) South-East (B) North-West
(C) South-West (D) East
65. 951 DRANAS Fr2g o«ech! A= S 77 Fea ez | Pikgg slqeE 0% vl Fee eew

S SCR, FCh! ORMR SIaeTa 2163 FIceT MCg | A9 SIQeco! PORES SQea 2[/1 (e e
95 2

(A) wFReI-27 (B) Teq-#if*o
(C) wEFe-If*5x (D) 7R
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65.

65.

65.

(b RGITR Prrees <l qces AR 7 W | Piceeg 4| 0% wfwe I@cR SIEeE bl Al
oo <mE 2IFx e | oo <151 (A qcTd A1 @I T 2

(A) wfEwe-o (B) Tea-7Ifoy

(C) wfEwal-oIf5 (D) 7

o8 JArEtferme ' wrsten S wrei aeeer fw'f weei ey ged
AT S Faar e et qef wretien foar el safd aman?

(A) EIAT-HHSI (B) GI-HHT&If

(C) WrerT-|HTEIy (D) G

U fafeamr 4 2R 1 s, a9 o ISk & qd 61 3T 21 W o TIsk & 3ie Sfeor 1§ e 1 fus
7, 91 <fiar & fisR @ ufsm it 3R 2| <fiar & fisR @ s =1 fosw form foom & 27

(A) sferur-gd (B) IW-4fm

(C) sfegur-ufzm (D) &

66.

66.

66.

66.

66.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

qeriee 12 . . qaeq awa 2w 15 {fse 05~/ 939 THI91CI [ @ore T@l 39
o1 2

(A) 64 . fi. afe 9o (B) 84 . fi. afe v

(C) 48 . fi. afs gb (D) 36 . fi. @fe g6

«3f5 NS e T afers 2o 15 MfIG 12 RFeEfivR 1@e o8y ¢ 2

(A) 64 5. fi. afs g6 (B) 84 . fi. afe g

(C) 48 . fil. =fe 94 (D) 36 f. fil. =fe 945

T TSITATHREE T T 98 @RS @Reen 15 fftea 12 o fifo Miem w@m=?

(A) =EEE 64 foho filo (B) e 84 feho filo

(C) =vermE 48 o fio (D) =vermE 36 o fio

15 fife # 12 foreiivier T forelt Taea 0 U5 o foTT T 1 &l Tomm  fore TR @ =@
nfeu?

(A) 64 fho o Ufd =T (B) 84 feho o ufd =

(C) 48 fho o ufa = (D) 36 feho o Ufd =T
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67. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. 45 TS 3G TGS (@O *F (e 21 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. vl 3CAME SRS (IR *[1D (I AR ?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. HITIHT SUS AiEE fogeTa o Qe SHH ST

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. W IS Weashie § -6 I8 3ifew grm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE

68. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. % IS ! IS 5 |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. (0% JICT *<M *+S Fee |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. TR 1Y HidEE! fAmi |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. T T AT TR I UEATHY |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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69.

69.

69.

69.

69.

Which of the following words cannot be made using the letters of MENDICANT?
(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANTY S[{92 2R I FHfIRS @R == oo S =i 2

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANT- SFafel T2 FC3 Ao (e 1916 515 1 IR 1 2

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANT i gi@iera! sTerH Memf o« gieed! g grm?

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT
frafafaa § @ ®F-w1 S5 MENDICANT o 2181 61 IUANT ik A&l ST ST Hehal &7

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

70.

70.

At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21

(C) 32 (D) 17

9Bl Iq WS (PRI (P Al fy (s J4 IR Gevl e AR | GBI ST
(e WRAIF! NS 02 | GBI ST TEY FTo S A20R | ARCIEAT AW CireieE] v
TS @I B3R | (TN % qISTICe A2 e FIACl, IF (T A[NOR QIS
G 01 ~[ SO FTe Sz | BRI SF (TR AEq OrR RS AR
GBI WER (P FRATE CICS IR | QRCalTeT] S FICH WSS WG 24 (P2 f2 =0z | 9
RIS o0 e o afefafy 3f2 =z 2

(A) 19 (B) 21
(C) 32 (D) 17
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70. I A7, B 2 (e aAfeffia @@ i IR g% AR, WP YRR | A T
GEEIFRR I Mo I BRI RS, GCEIERE AT S T IO | S, A2
TR 50l Bt IO | FIMCl, (Tachd I I IR <R (Ui T 5 O 13
(A TOR | GBI 3R (TTNICHA KT (TOeR FR2] ARCHS GR GCBRIR T | SICHIE €3
FRITCR W0 Mg Q&G 0P AT | I AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21
(C) 32 (D) 17

70. G- AN HEEd UREE BEdH AHRI ARITBRET ARl SHW - 9ER - wiEre e |
weq et sty wiver’ amfaeR fSeet | fefsen v fanf smfatstsm aeafeeme | em'emn
A e wE sforma SRRl wEErn S mfufy Jeier e e aiii
ATTETiIEE oty T €| T T ST SR TS ST 816l 8, STetEd TN Uk WA
TSRS THATSHI | 3T AT 3R TSI Tod Teed gedhill SeEl | Tl el ged{ aewrT o
ATEHA FHerE SR 97
(A) 19 (B) 21
(C) 32 (D) 17

70. Ja1 THS H F2 iy g § 9 & ufafy s e afs 7 Sed @ i wfi it i o g
Fh 93 A B | TR Y 91 3R Fad 38 ATk 93 T S, T i 9 IR e e W
B ST, SEiF % o A Y T W F| FAET, ST & i 918 AR 937 2, IR ST Uk
fom o BR ¥ R T W | TR R S % e A A @ el o R et &
THM 3| I 3R FATET & o= hadl B8 o dod & | Fol HemeRt foha 31 gar w6 § dad 87

(A) 19 (B) 21
(C) 32 (D) 17

71. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
71. (@O RFe (oifdest : BrmEl . Rwer sasa 1 2

(A) ﬁﬁ:wwﬁ@ (B) I+ITOR : [l : @F

(C) I : (@14 : ol (D) <19I% : (ARl : SN

71. @ Rl e : wa . oER-9a w9 2
(A)%@:wq:ﬁgﬁ (B) F[COR : SRS : =
(C) T : (514 : 33 (D) % : AT @ 71

SLRC-2024/P-111/ 1-A 52



71. 99 a1 of e e - woEETe S gRE Y

(A) TAS : ST : foregpe (B) HHER : Hia@ fil : s

(C) W : ferfi - forerma (D) & T : TARR : S
71. -7 foehed U : B : T & THE 27

(A) =&« @ fafene (B)W:aﬁwzaﬁﬁ

(C) o™ : @ : Tohara (D) e : HMER : AHH

72. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. 3 REAR = 42, TEAR = 44 o[ DEAR = 28, (98 (RS (FCHl (@9 8% 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. A REAR = 42, TEAR = 44 3 DEAR = 28 2, O3 II(b4 (FFMD To1 (Sl 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. §f¢ REAR = 42, TEAR = 44 3 DEAR = 28, 3scll ME™ el ST o5 U SI&l ¢

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
72. I REAR = 42, TEAR = 44 3fX DEAR = 28, df f=fdfad @ & SH-91 92 Tad o+ 4
Sirer T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

73. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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73. S #MCHl 7] AT AFE [Fs! o o
79 : IS el ¢ 2
(A) S (B) el
(C) (D)
73. O i e T ORI Rt o
e : EIfNS :: el @ 2
(A) =R (B)
(C) (D) e
73. a1 GREE! 37 WA gEie e 9o’
ST Y G 7
(A) s (B) forma
(C) Tr7erg (D) T
73. 3Afqu ug &l W % foru et fasked @ifse
QH:EIT&I'%::W:?
(A) w1 (B) T
(C) T (D)«

74. lIdentify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
74. Fry : BEReR T TFRYS @RI DS T4 |
(A) &9 : 87y (B) A : I
(C) Tfew : FoarT (D) &% : 4
74. g : HII-99 IO G2 T F Gfo e T |
(A) =9 : 87y (B) 1 :
(C) Tfew : Joams (D) 21 : 4w
74. 19 : TumEEm Sl W T ST e
(A) AR : gfa (B) 3ER : T
(C) Sl : Tl frerman (D) SmE - SRR
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74, =1 : ARHW & A G4 I SIS hl T8 hifSg |
(A) J@I :&dr (B) @M1 : 9ebET
(C) e : TS (D) Y : oA

75. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle
75. RIS @G = 2ve IRFCETS 17 T 2
O Hed TS GeeeE T97 (R |

(A) RIS (B) emerret
(C) R (D) 17
75. ‘“fSH Tem __ INre o 91 AR 177 @ qiHee Aeed (@i K ARFed Aol 4|
2
(A) RS (B) eeraret
(C) =TS (D) =
75. TR o QG AR SR STrETE ST STHRE T8T7
EREIED RGeS | O
(A) frgeama (lethal) (B) iU (fatal)
(C) e (deadly) (D) 3 (subtle)

75. Fefafad & @ -1 35 a9 § e @ 9 fhe gt gm?
fR®W__ wer @ =3t it Oid & T
(A) =T (B) STHetan
(C) W (D) Ha

76. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 B) 4,3,2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2
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76. TP BRG] SSY SEPI 2w X@rTes W& XLl 6 272

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
) 4,2, 3,1 D) 4, 3, 1, 2

76. <31 S (G TSy SRR 2e MBS AT T F 23 ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

76. T AT 3OS e fOgea oaFm aEied s wIREn /1 SrE?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 (B) 4,3,2,1
€ 4,2,3,1 (D) 4,3, 1, 2

76. W ITUST 3T & TFEAR 7 Teal 1 Tl A FT EAT7

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
) 4, 2,3,1 D) 4, 3, 1, 2

77. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

77. 27, 30, 37, 50, ?, 98 *RYECH W&H(F NBIRE A TS AR +-6 399 |
(A) 69 (B) 73
(C) 81 (D) 91

77. 27, 30, 37, 50, ?, 98 T FFCT BRI @Ce Ty Y =I5 et |
(A) 69 (B) 73
(C) 81 (D) 91
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77. GG TS SAEATRMT STSAE SFSHE gEd |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

77. A ! TE T W SR W < fore 3fed T w1 e i
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

78. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined

78. “EIIC WA T¢I @ OB (o e, 7 “Eaecd ¢4 ek Wi @ omdN TfE we |
(S STENFA Tl T eI @ '3« 2

(A) 7R PR (SIfoetE BI%[

(B) <1 S Ceifeq Twel I

(C) Fare S aRISI _ICSISF €4

(D) Fefa 7

78. “F FracE ceifer (@ o1 e MRk e, 7 Frel, @ o@dR 6 w7 S (@ oAl

ST | OI TSl e SCEA (PG @ T 2

(A) °[EI SR2 Ceied (50 4ol

(B) @1 @R (Efe @2 ThHoR

(C) T fomerced ey e

(D) Teefme =1 T =1
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78. UgsEn mew SAfdtge A S ar, Tuw ugsitgg Sifee Raarn ageift amaen e
EEeIRE RUIRECINERSIRIECISIEIE R ERIERCERIRICK

(A) vgsrn sAfafigs TEfEem
(B) ugsl 3T Safd=m wwe Sh
(C) Toramn wramfs Toe shfe

(D) AT g
78. g, ST & Tt & HT qE1 HAl B, Al {THar, S aget ¥ ool B, St ® R gt T 2
3Rt S ok aR ¥ frfeifad § & @ e ST Hehdr 27
(A) ugdt e w7 @ sfa @ 31 2
(B) gl 3 sfq Y <ieE a9 ®
(C) Toar i & w=@ wisft B
(D) 7= &l feram S geat

79. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece (D) Sister-in-law

79. ICETGT GF TP AR GO (ST SgPRE T, ‘(08 (|F M2 TZq GFAE TG
e’ | T e SSCTores Aed 7= 5 279 2

(a) ¥ (B) Sl
(C) eIfaret (D) T

79. O3B ICECHT SR, TN GG SR e Bfere Heq qeelecer, fof wmm =rsfbn
GG (ZCTA A’ | SO S FeTE M FroNd TP 2

(A) (B)
(C) =If (D) %
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79. TH BHEICTHIH THE SETEEE WA GGl foemm guam, o onfy fogasnf
e’ frarert forme | SR fomTStt wetreT 91 g SR
INIRELIE (B) et
(C) formme (D) forerT

79. TF HicSl GHRIE H, TAICT § Tk ST 1 3T R A g Fal, a8 B A % Fohaild 9 1
oqiett 77| ST s AT 61 AdTe O T Hey Y
(A) ==t (B) &
(C) WSt (D) &

80. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
80. O “MCH1 759 SR TS RFmch! oo v
T : T 2 2 : PRI

(A) TS AL (B) TS Fm
(C) <D (D) (TerERTel

80. TR “Mfb 7R &1 Ol Kpmfs g
Qegel « oISh1 12 2+ (PIomafeem

(A) & AERE (B) AT o7
(C) AT (D) (TSI

80. UMY WEIeE! ATg WA Arafeq et e’
WW:%::?:W
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) gt wmnfy
80. T g &l W o foTu Taraw foehed @IV -
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=R (B) GI-hiseh omeft
(C) Tehe (D) Yeafifar
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81.

81.

81.

81.

81.

A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

(I GBI FRAF A 40% I I 279 I O] PIwe 40% ZPT F41 277 | *ORN /R[0S
TREFCHR J2 ARG (22

(A) 16% I (B) 16% 3P
(C) 32% 3~ (D) S#Raee

a3 MRATEF 40% I FA 2 IR *[ISICe 40% 2P 41 27 | R ffdicd wamfog b
[fRE 2e

(A) 16% I= (B) 16% Z™
(C) 32% g™ (D) wifzafe®

a1 T feEmE! AT 40% SRR S TR 36 40% THEHEE S| Sairerd 9 et
3T | STt

(A) 16% el (B) 16% @H &l

(C) 32% @ St (D) St T

T G&A H 40% I Jhg it T TR 36k a8 40% =T & T3 | T | 33, IR fowrd 2
(A) 16% i gfg (B) 16% I =hHt
(C) 32% ht HHt (D) @I FeaTE T

82.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years

SPACE FOR ROUGH WORK
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82.

82.

82.

82.

M A, B SF C J 9T I 22 I%F AF B IF C J 9T T 25 29, (98 AfSTF 7[1 9 I%7
foze AT T 2]

(A) 25 =9 (B) 35 =d

(C) 50 I=F (D) 45 =7

M A, B 8 C-94F 5TC 7 22 I=F @R B € C-9 9T I 25 27 T, O@ 94 (AF 9 =7
4 A-99 RO F© 3, 1o T |

(A) 25 3= (B) 35 Iz

(C) 50 I=A (D) 45 723

Sfe A, B 3R CH 7T I@IeT 22 dER A/ B AR C 1 T8 s™is 25 JMisal, 9 dEr 3™
AT Seten S8e SIA?

(A) 25 SR (B) 35 R

(C) 50 =ERr (D) 45 =ERr

Ifg A, B 3R C &I 3fgd g 22 99 991 B 3R C il 3f6d 31y 25 a9 2, @ 39 ¥ 9 U1 918
A 3T 1d shifS |

(A) 25 a9 (B) 35 a9

(C) 50 = (D) 45 ¢

83.

The smallest among \F, \F, \F and \F is
2 V3 {4 3
1 1
1 2

SPACE FOR ROUGH WORK
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8

W

: \g \E, \EW\EEWWWWW
(A) \E (B) \E
(©) \E (D) \E
83. \g \E \E @GR \E -7 [ U FRAMG 29
(A) \g (B) \E
(©) \E (D) \E
83. \E \E ﬁmﬁﬁﬁmwﬁ@w
w L o L
(©) \E (D) \E
sa. |1 L, Lot 2 5 e et
(A) \E (B) \g
(©) \E (D) \E

SPACE FOR ROUGH WORK
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84. Iffzgzg, then XTYTZ i5 equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
84. zﬁﬁgz%=§,mx+g+zami’a
(A) 2 (B) 3
(C) 4 (D) 5
84. m‘ﬁgz%zg,mx+g+z_mm
(A) 2 (B) 3
(C) 4 (D) 5
84. 3R X =Y _Z smen XTYTZ o gum wmim
3 4 7 z
(A) 2 (B) 3
€ 4 (D) 5
84, g XY _Z XYY o gnm
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
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85.

85.

85.

85.

85.

Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

7B TR 2 : 3 TPIES TR I FROT oALT. SF FA.9.- F{REE 96. A YBH o
ey

(A) 18 (B) 20

(C) 22 (D) 24

{6 FIE ST 2 ¢ 3 R SCHR 9. 8. G ;Y. -] SRR 96. IRIT| {oA (5T 29

(A) 18 (B) 20

(€) 22 (D) 24

A4 fom Sg@men 2 0 3 AR R eman. AR g.enAn H anseE 96. o fowme
HFAT TSRS STE

(A) 18 (B) 20

(€) 22 (D) 24

3 wEAd 2 : 3 AU § § IR ITh HedH "HvEds 3R THdH THEE P UERd 96 §1 S
TRt w1 A 2

(A) 18 (B) 20

) 22 (D) 24

SPACE FOR ROUGH WORK
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86. The value of ¥82 is

(A) 1 (B) 3

(C) 2 (D) 4
86. {82 9 W 2’7

(A) 1 B) 3

(C) 2 (D) 4
86. {82-9q W

(A) 1 (B) 3

(€) 2 (D) 4
86. v82 f wr

(A) 1 (B) 3

(C) 2 (D) 4
86. V82 I WH B

(A) 1 (B) 3

(C€) 2 (D) 4
87. A certain amount invested in a firm would become double at the end of one month,

but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55
(C) ¥270

(B) ¥0
(D) ¥45

SLRC—2024/P-111/ 1-A
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87.

87.

87.

87.

@I 9 TP 2dfevrTe 4 [ IRE a2y wwe @@ 4 q@d AR 2w, 58
2AfSDICHIca 2feqq 1 w89 2'cefe & 120 Ffb MY | 9o Teee @2 dfewie 105 R
I IE (FICA S [T TP 2 3 W2 b1 flcq | 3 W2 WS [e2SeTq Jo IR

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

a5 W “ifFma =1l ga6fs e Afewe [iNae s O o™ o Bed 3 I 98 ofe
R €120 (G 1€T || & e T 105 RE@e s@ @32 @i wfeie «fue
RSt <1 ¢ 3 TPT (@0 (@ | 3 WO (ICF OIF (W16 SR 3¢

(A) €55 (B) ¥O
(C) ¥270 (D) ¥45
A ®I FHIHE T SHYARA T SeqEE o TST BFE SR T9™ %S SIEhHet

FHEAMT T 120 Gl IF@ - ATGAl | 99 IST o Bl $EAHE € 105 SHT aF1 3T Siell 3%
T BIeueEE forl o et g 3 @nfaat| g 3T e faerify g s sme

(A) T35 (B) ¥0O
(C) ¥270 (D) ¥45

wF w H faw i T2 e ffia ufe v wde % ot H Qg @ S, @l seE ves el W
¢ 120 i T Fe < ST 71 TE ARG 3@ BH A T 105 A A9 war & IR o foedt arfafen
Tfer &1 e R 3 wE 9% SR WA 21 3 HEH % 37d H IHeh! 8 3 Bt

(A) T55 (B) €0
(C) ¥270 (D) T45

88.

The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

SPACE FOR ROUGH WORK
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88.

88.

88.

88.

80 ¥ 100 ¥ &® SF® (o1 7227 (26! 2

(A) 2
€ 3

(B) 5
(D) 4

80 @32 100-9F (Y SRFS (NfeTs A7 FMH 2

(A) 2
(€) 3

(B) 5
(D) 4

80 W 100 T TSa HHe™ TeT 3HfSHT g7

(A) 2
(€) 3

(B) S
(D) 4

80 3T 100 o = 319" gl i it 2

(A) 2
C) 3

(B) 5
(D) 4

89.

89.

89.

Find the value of [(107 +102)+ (103 +107%)]=10°.

(A) 100
(C) 2

(B) 200
(D) 1

(107 +102)+ (103 +1072)]+ 10° T T f¥ef <5 |

(A) 100
(C) 2

(B) 200
(D) 1

[(107 +102)+ (103 +1072)]+ 10°-9g N fosfg et |

(A) 100
(C) 2

(B) 200
(D) 1
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89.

89.

(107 +10%)+(10° +1072)]+ 10° 7 7+ fag|

(A) 100 (B) 200
(C€) 2 (D) 1
(107 +102)+(10° +1072)]+ 10° = HH F1d =Hifs |

(A) 100 (B) 200
(C) 2 (D) 1

90.

90.

90.

90.

90.

If A:B=23, then 144A : 36B is
(A) 4 (B) 12
(C) 3 (D) 16

I A : B =3, (93 144A : 36B 3 T+ 27
(A) 4 (B) 12
(€) 3 (D) 16

IM A : B =3, 94 144A : 36B-3 T+ 2
A) 4 (B) 12
(C) 3 (D) 16

¢ A : B =3, 3%l 144A : 36B T 9m1
A) 4 (B) 12
(€) 3 (D) 16

I A:B=3,d 144A : 36B I U B
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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91. The fraction equivalent of the recurring number 2-19 is
271 217
A) —5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
91. (e RN 219 I FgeT SN (2R
271 217
(A) —= (B) =—
99 99
219 291
(C) —— (D) ==
90 90
91. WIS YN 219 -G F@ely I 23
271 217
A) —o (B) =
99 99
219 291
€) — (D) =
90 90
91. 2.19 NEIRAE AFATBE SR THE SRaTE @ial Tel
271 217
A) —o B) <o
99 99
219 291
C) —~ (D) —+
90 90
91. 3ad GEAT 219 F THI 19 BN
271 217
A) —5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
92. The largest of 26, 35, 4% and 5° is
(A) 26 (B) 3%
(C) 4% (D) 53

SPACE FOR ROUGH WORK
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92. 2°, 35, 4% =F 53 MANFHR A T NG 23
(A) 2° (B) 3°
(©) 4% (D) 5°
92. 2°, 3%, 4% @3 53-97 Wy FTEAH =
(4) 2° (B) 3°
(C) 4% (D) 53
92. 2°, 3%, 4% Iy 5% iswa W
(4) 2° (B) 3°
(C) 4% (D) 53
92. 2° 35 4% 353 § we@ W B
(4) 2° (B) 3°
(©) 4% (D) 53
93. For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is
(A) 7m (B) 14n
(C) 21n (D) 28n
93. & BIRTE (AN CFAO ¥l AT @ (O€ (eeere o1 TS oS qfAeE DRI
SABFICOIE 7 3“1 T | T DR 5 P 70 6. . =W, (98 *lewer 1060
3Tfef “[F® BIRCFTIC [FAE 712 (Wo 95e) wfow Bieq 2
(A) 7m (B) 14n
(C) 21n (D) 28n
93. 4T [RTE AR CF@ @l W @ q6 APIees T BeE ARCRCET AN B oA
e Ao =2 1 A AR BIe APTE 70 ¢ WL =W, Wil 1016 e AncecE ARt
wfody 391 71g (Woreq) 2=
(A) 7m (B) 14n
(C) 21m (D) 28n
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93.

93.

T ATgehel AT Jamfs, oo deerdt @ 2 9 fbfesen, Romfy amemn = 3 anfifest| g
HrEehdd AT @@Em 70 . f1. S/, 3fsen o W 10 GR hiisen, @geen s N
(forera) @ReATTH?

(A) Tn (B) 14n

(C) 21n (D) 28n

T FTEihe WAR % foru 7w 3@ e O e ot ot Yefom % fow wmsfer @ svren ufeen 3 qui
HHE a1 2 | Afe wrsfhd @ ufed i B 70 "o wio 7, A1 10 Ui Yefom # wEfeRd g1 99 it
Tl (i H) 7

(A) 7m (B) 14n

(C) 21n (D) 28n

94.

94.

94.

94.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm
(C) 4 sq. cm (D) 442 sq. cm

9Bl AIFA fages o o TweR o M S ool I%d (e 242 (5. . | fagetE
CFaE

(A) 2 3 5. fi. (B) 2+/2 3 ¢v. fil.

(C) 4 3sf 5. f. (D) 4+/2 3sf ¢5. 3.

9B A Tqgrem o € TvoR w7l A @3 PO AL oy 242 G . | fagsiog
CFEE T

A) 2 3sf &1, . (B) 2+/2 3sf 1. 3.

(C) 4 35f ¢, . (D) 4+/2 3sf 1. fi.

T WY TRET YT g IR ShurEi marer e o o 31y emenfuft cmeurgEn
242 @, fi.| 9 sty wifern

(A) 2=t @, . (B) 242 =t @, fa.

(C) 4 =t @, fa. (D) 4+/2 =i @, fa.
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94.

T IV TS T SR 3R 3Eeh! Sarg aRET § SreR § 3R ARl oS A aeTg 24/2 Wo o
HBEES IR EE IR

(A) 2 =t Fo o (B) 2+/2 @ Fo o
(C) 4 =t Wo o (D) 4+/2 =t Fo o

95.

95.

95.

95.

95.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42

(C) 49 (D) 56

19 ~[ RS 9 G R (P B 7P e 4] FHCACIN I TR Sreqiz.
2'e | OB AP 22 761 R R F 77 | G2 751 R P T (>

(A) 35 (B) 42

(C) 49 (D) 56

1 Trca o 283 @i TRYISET AR (A0 AN (SIS A AR @Foll 21 | SHBSfl (A
22 715 M4yl w1 27 | G 76 AR e 2

(A) 35 (B) 42

(C) 49 (D) 56

1 S IR S sERm RFwE T S AN SR e | AR AE
femmifr @9 7 SFRETERE 9 A S HE 7 SASEERE SR S

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y€ B el AR G e fl g@en H, 9 99 g A gel & Sl | W9 § ¥ yUw
7 T W =R A | 31 7 TEns w A g

(A) 35 (B) 42

(C) 49 (D) 56
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96.

96.

96.

96.

96.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

Yol TR A S[F BT @9 99f FAre C (o1 93 | #9981 BTe AF 7| B [cansl 9 3sf
IS D (A1 A | C~DF A SF B S 2 Fce AFRIMCH 2]

(A) AA+B) (B) 4(A-B)
(©) f:rB (D) 4AB

76 A A 8 B (F AN @9l T W G 39 I¢ C A IR | A[IS! 417 A (e B [l
T 3 QIR FEAE J9f FACE D 7S AR | A € B-GF A2 AR C— D (F 27 FACE 2

(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

A I B IARNHME! IETEAH W JE o fGgHH C AFam| AW wiieE B @ A Foem
T i T Aty s fagae D a9em| C - D@l A 31 B foermeme wrAmsa

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

C YT %3 & foTT ugat 2 §&A1sT A 3T B bl ST Sl @ qT 3961 o fohaT STl 2| 37Tl =R/
A, AW ¥ B & 921 ST @ 3 D " 3 & fow 39 aftory =1 anf foean strar @1 9o ¢ - D
Fl A 3 B % &9 H =4t i TN

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB
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97.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3
€ S (D) 2
97. TSN [ AT 1250 7[5 Ffcat @bl #Jofqof 7251 oIl A 2
(A) 4 (B) 3
(€ S (D) 2
97. {3l TR0 AL @A 1250 (F @9 Fca1 7)< 95 F “A1eq T/ A6 Fefy Feey |
(A) 4 (B) 3
(€ S (D) 2
97. 1250 W 311g o WA F AT SIS SHSEAHH |
(A) 4 (B) 3
(C) 5 (D) 2
97. I =AW 91 F1a whitwi, e 1250 & T i & 9= o fofe 7o R s =nnfee |
(A) 4 (B) 3
€ 5 (D) 2
98. When the numerator of a fraction is multiplied by 4 and the denominator by 9,

98.

the fraction reverses. The fraction is

(A) (B)

©) (D)

NSNS, BNS NN
NWw WIN

GBT SR T 4 (T S 295 9 (T 7F FICH ©AIKON ARSCI (o110 | S2RHCBI (=R

(A) (B)

(€) (D)

NSNS NG U RN
Nw WIN

SPACE FOR ROUGH WORK
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98.

98.

98.

G AR FRCE 4 FEI G2 TACF 9 T B FqT 206 A1 Teen T | S’ =+

(A) (B)

NSNS IO U N
N[W Wl

©) (D)

JecAT WA AEEEREIE BFE 4 ST gESTe A0 Sa@ 9 5, o araeaereT oot fifdst) o
ELCIEICIEH 1]

(A) (B)

NSNS IO U N
N[ Wl

©) (D)

e fore 379 o 3791 1 4 | ST N 9 W TN o ST 7, at o 3oie Sian &1 9 e

4 2
(A) 3 (B) 3
5 3
(€ 2 (D) 5

99,

99,

99,

At what percentage of simple interest does an amount of money double in 12 years?

A) 9X% (B) 8<%
2 2
o) 8l D) 91%
(€) (D)
3 3

T T GG A 12 T 0 751 7 7 o7 234 i 24 o 2

A) 9X% (B) 8=%
2 2
o) 8l D) 9X%
(€) (D)
3 3

T IO TS XTI 2 Fore 12 =T @y 272

A) 9X% (B) 8=%
2 2
o) 8l D) 91%
(€) (D)
3 3

SPACE FOR ROUGH WORK
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99. WY M@l S| o8 &R el & AHscl 12 SERE o STEET BT SIEH?

A) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

99. HIYRY =TS o foha TfaTd W i gmufyr 12 a6t # g &1 Saft?

A) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

100. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
C) 1:9 (D) 6:9

100. %5l €1 IR B2 1 : 3. IS YO (FaFeq S 27
A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9

100. 7 IS WIS TP 1 : 3. S CFEFCT TS 25

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
100. @A WA TEEHRH FerEmE 1 3. TR sifaf sgsmmn

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
100. < gt i et o ogu 1 : 3 ¥ ST Sthall 1 ITATd 2

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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101. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
101. 1009 100% ¥ &5® 200 F 200% @19 FECE T 2
(A) 300 (B) 400
(C) 500 (D) 600
101. 100-99 100%-99 ¢ 200-99 200% (197 FACE T 2
(A) 300 (B) 400
(C) 500 (D) 600
101. 100T4 100% =T 200 200% @ TSTETsAT AT
(A) 300 (B) 400
(C) 500 (D) 600
101. 200 % 200% H 100 &1 100% SIS 9 Gy 918 2
(A) 300 (B) 400
(C) 500 (D) 600
102. If a+b =8, b+c=20 and a+c=18, then the value of a2+ b2 is
(A) 34 (B) 43
(C) 46 (D) 64
102. T a+b =8, b+c=20I<F a+c=18, (B a’+ b2 I I 2’7
(A) 34 (B) 43
(C) 46 (D) 64
102. I a+b =8, b+c =20 93 a+c =18 27 O@ a2 + b2-&d W+ 3¢

(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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102. Jf a+b =8, b+c=20 AR a+c=18, A=Al a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64

102. g€ a+b=8, b+c=203 a+c=18, @ a®+ b2 HI A 2
(A) 34 (B) 43
(C) 46 (D) 64

103. If 2% =32, then the value of x is
A) 4 (B) 5
(C) 6 (D) 7
103. M 2% =32, (@ xI I 23
A) 4 (B) 5
(C) 6 (D) 7
103. M 2% =32 27, O(F x-9F [ 29
A) 4 (B) 5
(C) 6 (D) 7
103. Jfe 2% =32, 37T x M AF

(A) 4 (B) 5

(C) 6 (D) 7
103. Ff¢ 2* =32, dl x H A B

(A) 4 (B) 5

(C) 6 (D) 7

104. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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104. 55 FiE SA R @9 95 (AR 903 | IRANCFEH[ SHIESF TS TR (30T
(A) 17 (B) 21
(C) 23 (D) 19
104. 5 TS S HUF @9RFE 95 IS (577 | FRIBfR Teey J2eNb 2o
(A) 17 (B) 21
(C) 23 (D) 19
104. HINS AF 5 o9 U SHSHIGRM ISTETEaT 95. afRgs RaA SHfSmmRT e
A) 17 (B) 21
(C) 23 (D) 19
104. 5 FHNG fowd G@A1sti o1 A 95 U STdT & | Tl SISl 9 §
(A) 17 (B) 21
(C) 23 (D) 19
105. If the decimal number 34pS is divisible by 9, then the value of p is
(A) 8 B) 7
€ 4 (D) 6
105. 3 WIS 47 34p5 Gl 9 [ [Ferey 37, (93 pd I« 27
(A) 8 B) 7
(C) 4 (D) 6
105. 3% wifiF 54 34p5 6 9 == ey 24, ©2ee p-99 N+ 23
(A) 8 (B) 7
(C) 4 (D) 6
105. Sfc 3w SHMT 34p5 @ 9 it THSAI, 3Tl pfH am
(A) 8 B) 7
©) 4 (D) 6
105. afe evmed T 34p5, 9 ¥ fawsa 8, @ p 1 AH 2

(A) 8 (B) 7
(C) 4 (D) 6

SPACE FOR ROUGH WORK
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106. The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? B) 4n cm?
T 2 n? 2

(C) - cm (D) cm
4 4

106. 4 (5. . q2q I8CFq WO fowae ST 7|1 I8 GO AHE® CFawe] 27

(A) 4n? <sf . . (B) 4m 3 (5. .

(©) %zm‘ . . o) * 2of (5. fil.
4

106. 4 ¢1. . IRME 43 I5fCHeaa oo SFce 71 Jeed A CFaTa 2

(A) 4n? 2sf &1. . (B) 4n 3sf (1. f.

(©) %zm‘ . . o) * 2o 1. f.
4

106. 4 9. . st ma7 it foee 9 eam e et wfomn
(A) 4n? =t @ fin. (B) 4n =t 9. fir.

© Tt D) ’faﬁa. i

106. 4 To Mo IR & Tk a7 o ik GiF 1 Tk ATl I 1 ATerhay w2
(A) 472 =1 Go Mo (B) 4n 91 Fo Hio

() %aﬁ@o o (D) ’faﬁao o

SPACE FOR ROUGH WORK
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107. If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday
107. If wife 99 27, cocg 92 e Ja9 et 2’7
A) *FRE (B) ®&aN
(C) == (D) CIAIE
107. I =& IR 27, orzce 92 e 277 et 2
(A) == (B) &M
(C) == (D) CTRER
107. Jfe feaf @ foem, steen 92 amfy 3@ @1 9F SrTA?
INBRUGELR (B) YHIR
(C) Temm (D) THaR
107. afe o<t foar B, @ 92 fa=i & =g =1 feq 2
(A) TrHeR (B) epaR
(C) Taamr (D) FHaR
108. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is
(A) 4 (B) 2
(C) -2 (D) -4
108. (PG G YA oI #1 ALCOE ol @ RKems FRea 77 G2 ARMICBIEE. CAdl T |

SRETICHT (202
(A) 4 B) 2
€ -2 (D) -4

SPACE FOR ROUGH WORK
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108. (b zwe IR o @9 e 75 (e [ w1 2ee #RT™ Rea ~Fam M2 e
TR | ARG 231
(A) 4 (B) 2
(€) -2 (D) —4
108. Jf 9FE SANHIA F-whE & qEsTemee aFE 3, fecl 1 9 SEHEET S| fo=
EIcie]
(A) 4 (B) 2
€ -2 (D) -4
108. <& foret T &1 fF I 3@ we & a9 @ "er fen S @, d ufom 9@ wen wdt 21 9w
T 2
(A) 4 (B) 2
(C) -2 (D) -4
109. In Roman numeral, XCI represents the decimal number
A) 41 (B) 21
(C) 91 (D) 111
109. (IR 1R XCI G JeRIEl IR RGBT 207
(A) 41 (B) 21
(C) 91 (D) 111
109. @ 3=y XCI 7Rl fofere w1 wifvs 714G 22
(A) 41 (B) 21
(C) 91 (D) 111
109. ™M g XCI 7 qofyes srafsmmn s
A) 41 (B) 21
(C) 91 (D) 111
109. U9 37k § XCI 59 exmera g &1 Ufdffied st 2, 98 8
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK
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110.

110.

110.

110.

110.

A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

13 . | ©4el T Ty (rdle @9 (R [ SCR S B €0[q Jqeol 5 . Twere
IR | (AR AR S G4 9o J99 A6 S iF 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

13 fi. trcd@ (b 2 @3 Torm MSAER AN TSI (20 SR @ OF ToEa a8 5 .
THOR TEFS | (TEICET WO GR B TChe 20T Ty S 79 2

A) 9 . (B) 5 f¥.

(C) 11 f. (D) 12 .

13 iy, TieTer STieett TE! AR ST st 5 i, shersama @R 89 SiFel | S AT
TES St Merfif Tfefem e s9?

(a) 9 fa. (B) 5 fir.

(©) 11 fa. (D) 12 .

13 Hio el Ueh WGl Uh FHeATaR S W ekl g8 ¢, fSwent a4 5 o & F=mg w 2| dan
% Tl R 3R =ie < f=ret fR o o= 6 afos gl ©

(A) 9 Hio (B) 5 Hto

(C) 11 Hlo (D) 12 #io

SPACE FOR ROUGH WORK
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111. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is
(A) 1 (B) -1
(€ 2 (D) 3
111. 2, -1, 3, 1, - 2, 5, 6 RANGICHE I (202
(A) 1 (B) -1
(C) 2 (D) 3
111, R & 2, — 1, 3, 1, -2, 5, 6 -99 I 2+
(A) 1 B) -1
C) 2 (D) 3
111. sFAGMI®IR 2, - 1, 3, 1, -2, 5, 6 TerEmn
(A) 1 B) -1
(C) 2 (D) 3
111. G&IST & 3R 2, — 1, 3, 1, — 2, 5, 6 I HIEAS ©
(A) 1 (B) -1
(C) 2 (D) 3
112. A person moves along a path such that he is always away from a given point by

7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m

(C) 122 m (D) 144 m

SPACE FOR ROUGH WORK
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112, @& qc2 93 2fe [T 7/ W 7 W, @ I3 AR 93 WWE 7| oife a1 | [Fg A
GCTTCd S IR (€ 77T AR ST FT© ToIS T | G2 AR (D€ Tfoad F1 79
ElERCRew)

(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

112. g3 IS @9 IO #1940 5o @ O A qio Wi [y cAee 7 W gag q@w ey |
fPgs BT #} (T W O 2[igs fRes (e | @2 e (ooid it sfoae
R 79 25
(A) 22 f. (B) 44 fi.

(C) 122 f. (D) 144 f3.

112. 99 THRET 3 AW ARGER oeE drel S e 2ee fogiem seamet 7 @ meeEE o
T Y AEEEEN 3AE S e e SREE G| § AT S 98 TS
TSI ¢
(a) 22 . (B) 44 fir.

(C) 122 fu. (D) 144 fa.

112. U =fth UF 99 W 39 YR Tl @ foh d8 fou 70 ek forg @ gHan 7 o g @l 81 Fo < e
% 916 98 J: IO TR forg W Uge ST §1 39 §HA % QR At g a9 hl TR STgET
U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

113. A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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113.

113.

113.

113.

1 91 . SO T GO 791 1 9 (5. . SEreed [y A g e I Tferedr =7 |
o1 AF TR TR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 9 . SRS GF I SR T SFICA FOod 1 ¥ @1 [, SR e [oe
T 2 | 1Y T GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 =9 . USWTE TAT T8 % 1 89 4. . a9 S R et g s, e
et == STETTH?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 59 Hio TG It Tk 4 Bl 1 B9 Ho Hio TG It B¢ 1 § GHM &Y § hlel STl €| 91T
T B AT hI G 8

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

114.

114.

114.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 GC TRCS [Tey Telod LT 4G AL 2’7
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7R AN G2 M 6, 8GR 12 =l [eren, @I 23
(A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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114, SAMRGE IR IS T SHSE SRE! 6, 8 IR 12 S TS, o= STal
(A) 24 (B) 18
(C) 48 (D) 36
114. U= Bl GHTHS qUTTsh, S TF 919 6, 8 3R 12 & farsa 7, @
A) 24 (B) 18
(C) 48 (D) 36
115. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is
A) 1 (B) 2
(C) 3 (D) 4
115. 3-SYS SBROCT A JA FORP TR O 2-SKFYS T I el FR2AE 19 (2R
A) 1 (B) 2
(C) 3 (D) 4
115. 3-W(C%d FUOY FIF I MRAN G<R 2-WCFS J2&H FOIRS I FRAE T 212w 297
A) 1 (B) 2
€ 3 (D) 4
115. gafeE 3-aEfsmrnEl e s/ smfim o wfem 2-amfsmrme [t aw'a sl sra
TR BRATT
(A) 1 (B) 2
€ 3 (D) 4
115. 3 37 il T BT UTHfdeh q9 TEAT 3T 2 k! hl Gl S TThfcrh T TEAT o = 1 3R 3
A) 1 (B) 2
(C) 3 (D) 4

SPACE FOR ROUGH WORK
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116. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

117. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

118. What is the synonym of ‘furious™
(A) Laughter

(B) Witch
(C) Impure
(D) Angry

119. Identify the incorrectly spelt word.

(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

120. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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121. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

122. Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall

123. What is the collective noun for ‘ish’?

(A) Swarm
(B) Pack
(C) School
(D) Herd

124. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.

(A) Either, or

(B) Both, and

(C) Not only, but also
(D) Neither, nor

125. Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

B) (/)

€ ()

(D) ()
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126. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

127. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

128. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

129. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

130. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You
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131. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

132. Identify the correctly spelt word.
(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

133. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

134. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

135. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran
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136. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

137. What would be the antonym of ‘“friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

138. From the list below, identify the synonym of lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

139. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

140. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy
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141. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

142. Fill in the blank :
Tuhin ran ____ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

143. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

144. Which of the following punctuation marks is called ‘hyphen’?
(A) ()

(B) (/)

€ ()

(D) ()

145. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty
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146. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

147. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) I went to go home now.

148. Choose the correct option :
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

149. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It

150. Identify the incorrectly spelt word.

(A) Monkey
(B) Moniker
(C) Matress
(D) Molten
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